e

[This question paper contains 8 printed pages.|

1455 Your Roll No. ...cocovveiees

B.Com./I1 E-1

Paper VI-BUSINESS MATHEMATICS AND STATISTICS
(Part B-Business Statistics)
(Admission of 2006 onwards)

Time : 2 Hours Maximum Marks : 50

\ (Write your Roll No. on the top immediately

on receipt of this question paper.)

Note :—Answers may be written either in English or in
Hindi; but the same medium should be used

throughout the paper.

ﬁwﬁ:-wm—wwmaﬁvﬁwﬁrﬁﬁnﬂww#

ﬁmﬁﬁ?aﬁﬁﬁ?ﬂ%wwﬁﬁwwﬁ?r

Attempt all questions. First question is for
14 marks and the rest three (Question 2, 3 and
4) are for 12 marks each. Use of simple
calculator is allowed. Log tables and other

tables shall be provided on demand.

PTO.



1455

1

2

(a) Which average is based on all the observations? (2)

(b) If mean is 79 and variance is 64, calculate the

(c)
(d)

(b)

value of Coefficient of variation (C.V). (4)
Find the geometric mean of 16 and 36. (4)

The correlation coefficient between X and Y is
0.90 and the regression coefficient by, is —1.
Comment. (4)
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From the following information, calculate the value
of N, the number of pairs of observations:

r=108, Zxy'= 60, G, = 2.5 and Zx* = 90

Where x and y are the deviations from the
respective means. (4)

A gynecologist records the blood pressures of
her patients and collected the following data:

Age (in years): 23124125 (26|28 (29|31 [35]40

Lower limit of BP: |65 [60|62 70|70 73|75 [83(90
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(a)

(b)
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Calculate the two regression equations. Also
estimate the BP if the age of the patient is 38

years. (8)
OR

The mean of marks in Statistics of 100 students
in a class was 72. The mean of marks of boys
was 75, while their number was 70. Find out the
mean marks of girls in the class. 4)

Calculate coefficient of correlation from the
following data and comment.

Experience(X): 161120018 | <4 3ol 'S 12

Performance(Y): (23(22(24]17| 19/20]| 18| 21

(8)
e gaenatl & N @1 9=, Jeon & e & we,
& aRea Fifom:
r=08, Zxy = 60, 0, = 2.5 3 a2 = 90
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FTHT (X): 16 [ 12118 Ladead 101 5 |12

femeT (Y): |23 |22(24 {17 |19] 20| 18 21

State two major differences between correlation

and regression analysis. (4)

For the data given below, find the missing
frequency if the arithmetic mean is Rs. 33. Also
find the median of the series.

Loss per shop(Rs.)| 0-10{10-20|20-30| 30-4040-50 | 50-60

Frequency 105115 7130 - 25 20

(a)

®)
OR

Distinguish between positive and negative
correlation. (4)
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(b) A worker in the city of Patna earns Rs. 10,000

per month. The cost of living index for the month
of January, 2011 is 160. Using the following data
find out the amount that he spends on (1) Food
and (2) Rent, if it is presumed that he spends all
his income on the following heads only:

Group Expenditure Group Index
Food ? 190
Clothing 4500 181
Rent ¢ 140
Fuel 2000 118
Miscellaneous | 1000 101
(8)
() weEay 3R FEw A F @ 1@ SR W I
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4. (a) A cyclist pedals from his house to his college at
a speed of 10 km. per hour and back from the
college to his house at 15 km per hour. Find the
average speed. (4)

(b) From the following information regarding annual
profits in a business, find:

(i) The trend values of profit for the given years
(assuming a linear trend).

(ii) The trend eliminated profits for the given
years (using additive model).
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(iii) The estimated profits for the year 2017
(presuming the same trend to follow).

(iv) The average annual increase or decrease in

profits.
Year 2008|2009 (2010 | 2011 (2012|2013 | 2014
Profit 307798 120" "1TISOTT 130 VraEs 200
(*000 Rupees)

(8)
OR

(a) Which average is called the best average and
why? (4)

(b) From the following data, calculate the chain base
index numbers taking 2006 as the base year:

Price in Rs.
Items 2006 | 2007 | 2008 2009| 2010
A 5 8 10 12 15
B 3 6 8 10 12
B 2 3 5 ¥ 10
(8)
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